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1.Section A 1, BRIy — 5 — L X i, RGP = F B IE AF AT
i, Bt AT s E P R X RIAE R T EAR, FZENER
R AR R ST, LATSR U .
F=FHEAA TS ARAEE . WL EE, da] LM R ;
A LA FE— )R, ] LA X8 6] Bl E PR T AR BAR Y
tﬁ.ffuxffﬁi’(%ﬁﬁiﬁﬂo HR I A B R BE (3] 17 Y 1 ok BE
Japa]
2.Section B W, — M =R AN, BERINA 120- 05 H., §R
JEMIA 3 -4 B, [R1REATE X th 32 B A 0] 3] O 8 Bk B8 1) 4] 3 4
AR, W
D) MREAE T R LA FRE, A what 17
What does the man {woman) mean?
What do we leam from this conversation?
What will the man do?
2) XMEER LM AIREIEH, where:
Where does this conversation most probably take place?
3) A+adia) 32 E] % A when, what time, how long %
What time is it now?
When did the man (do) ---?
How long does the man have to (do) -++7
4) ¥R, MR A how much, how many:
How much does the man have to pay?
How many people took part in the competition?
5) X E A AR R X EE A .
What is the main idea (topic) of the passage?
Which of the following is (not) true?
What do you learn from this passage?
According to the speaker, what is the -+ ?
What does the speaker think of -7
() ¥ AR
1. H M8
BRBRLENT ST BP0 HL B R . TSR A BT S R 4 BB
B A AXRE B SHUREXFHTERS (EE. B
HER) %,
M: The students’ English club is having a party on Saturday night. Can you
come?

« 2 .



W . 1 would like to, but I have to work at the restaurant on the weekend.
Q: Why can’t the woman go to the party? (1990.1.3)
A) Because she has got an appointment.
B) Because she doesn’t want to.
C) Because she has to work.
D) Because she wants to eat in a new restaurant .
VE:(“CET4-90.1.37 £/ 1990 F 1 H £ E MK HKXK L% 3
M)
W: Have you found anything wrong with my stomach?
M: Not yet. I'm still examining. I' 1l let you know the result next week.
Q: What is the probable relationship between the man and the woman?
(191.6.3)

A) hushand and wife. B) father and daughter.
() doctor and patient. D) teacher and student.
TR

XERTEXT G SE P AR B, ERBERBAXYFH
GRVCANAREREHRT —LHRKITE, XERFAENK.H
BLER HE A DR R ZIR B A BBl B R

jj o
W: Bob, are you going straight home after school today?
M: No, I have a class until one o’ clock, and after that I' m going to spend a
couple of hours at the library before going home.
Q: When is Bob going home this afternoon? (CET4-90.1.6.)
A) Around 5:00 B) Around 3:00
C) At2:00 D) At 1:00
3. AL

YRR SCPH RS, EE R X R AREERE
f# . ‘B FH What does the word ( phrase) mean (imply, indicate) -7 What
do you understand from ---? ZA]F 4],

W: How often did you write home?
M: I used to write home once a week.
Q: What do you understand from the man’s answer? ( CET4-90.12.)
A) He enjoys writing home every week.
B) He never fails to write a weekly letter home.
C) He doesn’t write home once a week now.
D) He has been asked to write home every week.
H: ARE SRR used to write 95 X,
M: Nancy, why were you late today?
W: 1 overslept and missed the bus.



Q: Why was Nancy late? (1990.10.)
A) She got up later than usual.
B) The bus was late.
C) She forgot she had classes.
D) Her clock was slow.
kPR E A overslept B .

W: John, do you want to go swimming with me today?

M: Sure. But [ can’t leave now. I have an appointment with my professor at

three o’ clock.

Q: Why can’t John go swimming now? (CET4-95.6.4)
A) He must meet his teacher.
B) He must attend a class.
C) He must go out with his girlfriend.
D) He must stay at school to finish his homework.
¥ F AW S have an appointment with 895 X,

BB
REEE A BT IE S AW ] MER R (J:

B UK SRIA B ESSH) MR,

W: If the traffic wasn’t so bad | would have been home by 6 o' clock.

M: What a pity. John was here to see you.

Q: What happened to the man? (CET4-90.1.7)
A) He had to work overtime.
B) He was held up in traffic.
C) His car ran out of gas.
D) He had a traffic accident.
T A AR BB S AR

LRGN
TNy B P R A S R R, S A R A X 3 R 4

BN T LR EAR S E R SRR BT LN 28 & 3, e 34

HEFRFIESIE

W: Shall we have an English test this aftemoon?

M: It is postponed because the teacher has to attend a meeting .

Q: What do we leam from this conversation? (CET4-90.1.4)
A) The teacher postponed the meeting.
B) There won’t be a test this afterncon.
C) The students will be attending the meeting.
D} The students will take an English test this afternoon.

M: How do you manage to work and go to school at the same time?

W: My classes are at night and 1 work during the day.

4 .



Q: What do we learn from this conversation? (CET4-91.6.6)

A) The woman goes to school during the dav and works at night.
B) The woman has to work to support herself.

C) The woman’s classes are not difficult,

D) The woman studies at night.

LA CET4-91.6 it 45 19— BT /3 B X (Passage Three) A

When you take a walk in any of the cities in the West, you often see a
lot of people walking with dogs. It is still true the dog is the most useful and
faithful animal in the world. But the reasons why people keep a dog have
changed.

In the old days people used 1o train dogs to protect themselves against at-
tacks by other beasts. And later they came to realize that the dog was not only
used for protection, but willing to obey his master. For example, when people
used dogs for hunting the dog would not eat what was caught without permis-
sion. But now people in the city need not protect themselves against attacks of
animals. Why do they keep dogs then?

Some people keep dogs to protect themselves from robbery. But the most
important reason is for companionship. For a child a dog is his hest friend
when he has no friends to play with. For youny couples, a dog is their child
wher they have no children. For old couples a dog is also their child when
their real children have grown up. So the main reason why people keep dogs
has changed from protection to friendship.

17. According to the passage what were dogs trained for in the past? (3]

i)

A) For protection against other animals,

B) For protection against other dogs.

C) Just for fun.

D) For the purpose of guarding the house.

18. Why were dogs used for hunting? ( J 7))

A) Because they did not eat other animals. -

B) Because they were useful for protection.

C) Because they were good hunters.

D) Because they always obeved their masters.

19. What is the most important reason for people in the city to keep doing
now? (H)WrR)
A) For companionship. B) For amusement.
C) For protection against robbery . D) For hunting.
20. What is the main idea of the passage?
A) The city can be a lonely place.



B) Life in the West can be very dangerous.
C) People in the West are fond of animals.
D) The dog is a useful and friendly animal.
6.9 BiA 5 X AL B A R AR E ‘
FEW MR, i T O RE A ARBESI SR A, Bl
Bk R
M: Please buy two packs of cigareties for me while you are at the store.
W: I am not going to any store. 1'm going to see Aunt Mary, but I will get
them for you at the gas station.
Q: Where will the woman stop on her way? (CET4-93.6.8)
~A) At a cigaretie store. B) At a bus station.
C) At a gas station. D) At Aunt Mary’s.
HE:BTEERTEE SN gas station A KM, i HF
W% HARX—HE, BUE CTRIEREREN AT,
Z)BAAME (MEZEWHERE)
(=) BiEnY
XA RERME L RANE, B, LGS RBED, — B
¥ B B M, AT T R I AT
LUrEr IR R AREE T ANE, EXEEF LM RAHEE
HENE B REAFEAF, HES LT Xz eE, o
1997 & 6 AZBREWE SI 8 H, No working day is identical to
any other, so there is no “typical” day for a police officer. iF X H-FR Tl
T “typical” —if) (BEIAFEBFE A “topical”, BIRAT ## typical J}4E
T type (KB) —ia], B A LE LMK difficult, W52 HFREE
HELEEEFAGH-a KK
2B ARSERENE  TEREFMASHAR  REEAUTILA
HEE F:
1) Hj‘ B m%%ﬁiﬁg,
2) 3 %E@ﬁﬂlﬁ" RiEPERZEST UL RERE RUA, %8
B8 — 1) R B 3 ) B8 B R R T SO MR IR E
3) BB TR URYEHE, 10l A A AT gE T B R R iE
R AANERE L TXREEEEFE,
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itﬁﬁjJ RSN, W RS2 IR, Xk
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SEASCRACHTRIM A, SUBEIE T @, b THRZ ER
MFk KL ERBRXIHOT NS, & ERLWIES EAl,
FRHETELXREE L4 .20 2K, DEEEEEEE, A8
LIS E XTI BN AR S A . B0, iR A, R (not) -
until”, “unless” % , 47 453 4= 7 [ 1 0 AR B AL R o 4% B 0 JLIR A BB SF
X AT I R, 00T 3 K o B £ B, B R R AR, B
SR AT EREREETEMNTRBE T, BAIESSE, #H3hix
JBARE , WRE 5 LHIR

SERMEHEREAR N - REEFERANESTEELS
e, —RERE LT XA ER BB EY IR BHELGE

jJO

BB AERE S R — MR E M R IT, iERAIB L CEM-
97.6 LB S10 M, ERY R IR :

I thought she was going to have the baby right there in my car. But fortu-
nately, (S10) [the baby waited to “arrive” until we got to the hospital ] . &
Pt e R AR E ABIEE F4£ FR, BEEHR, (S10) -,

BRI RE ARERS DRI XR  RITUEBSHBE TR
AEF L TRBERLUS A it XA, LA LAHERR 3 st 4 0 1R
FHIEER LK “the baby waited in the hospital” (BT EBEH L)
AL A th O] BRI TR 35 1 waited to arrive” BERHE"ZE,
{HERDIRARSE | SCHENT the baby was bom in the hospital” , 3 X th.% .
FREASE IR BN GE 1, B TE B P RIEH L EM,

SEFRRFRWE I ARIER B EHEE TR L, N IEE
ARG HERBEREESHME L., MENESNZRARN
ﬁﬁiﬁz‘%—ﬁﬁ:’cﬁ, Wr KBRS A0 Y5, R IEAEVT B, 01 AN B2 1L BT
AR N B A S WL T TS H5— A, i
JE R ILR S AT, A RABEENA . XN R, %R
LR R I T, EE T 8T B A SR, AT IE A0 BT B R
—HH RN ERT FEICF IR ANAE, RS AR,

B4 : - —because; ., — so; = — equal; sth.— something; sts—
students; ads— advertisement; fridge-refrigerator demo— demonstration ;
esp. — especially; sb. = somebody ¥ %, o, RIGFBIFixse
W, XTSRRI T .
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— RN B ,

KRB MG ERRE B ERERR., Zfs—-BaERE
SCALA, BB R i 1000 MRS, 3L 20 BB, B AT E) 35 4
BEEXEHETAEE. SEBEXENENEE N MR T
W~ EREEE, HIHEEESEEMR T RES . EIEBFIEH
MM ESHAE:2. THRIEHESMAENETHAY,; 3. RERTH
B EE, L REARE P IR ATRLA 1T A FIT RIS 4. R4
BB, HER T BB ER.

R o) f R R X o g
(—) ﬁﬁ%ﬁﬁﬁﬁﬁmﬁ?ﬁﬁhﬁgﬁﬁ ﬁ“)ﬁU"FJL?SIﬂE?ﬁ'JﬂT“ﬁﬁ%
A FH S BRHERE f7 -
1. FEkER

e EEM R A E X SR RO BRNT#, BRI E
1) "lhe main (major) idea (point, subject, purpose) of this passage is that

2) The passage is mainly about .
3) 'The best title for this passage might be
2 YR
EEPANIAE R ENC R S faxt B FAE MM N, LR A

RIEETORR R BHEFHE LA8E . B RAEEE
1) The word “--” in line (paragraph) x most probably means

2) By saying " (Line x , Para. x ) , the author is referring to
3) According to the context, the statement """ probably means
JATEER

ERPANKEEEXERNT, WXEHRNEE &R HR.
RS T RIRE S . B WA
1) Which of the following is TRUE (or NOT TRUE) 7
2) Which of the following is NOT MENTIONED in the passage (in paragraph
x)?
3) Which of the following may lead to (cause)

- 8 -



4 BRI R

FE W A BE G XHE & RS E W AR BEH BB
BRBEH EIEL S EAOME . B R E LT RERERN R,

W LY R A
1) It can he inferred from the passage that __ .
2) The author’s purpose in writing this passage is
3) The passage implies (suggests) that
(ZZ) L% g
1. BEREERIENT BTk, DAHR & IR R IR R
2. BRBRINE Je 0] FEM, LARBRIE S MBS ;
3. T RBETW RN, LINE E A EIMEE F

= BERGES
(== ) 0 3 10 4 280 40 Ok 5 75 B T 1)
1. e SCHE by
VAl CHEMRRET , BNOK % A4 6 48 0rp A B G s ) ) 1 h R .
U AN A RERE ] AL, e R A B, XM
*%T%?ﬁﬁﬁﬁ@ﬁ]ﬁ EF & (context) H %ﬁﬂ’ﬁ?, ERIX U
;ﬁﬁ?ﬁﬁﬁ&ﬁﬁﬁﬁ?ﬁiﬂ%ﬁ]ﬁb A UR G T SCHET iR X
T
D FE A op 3 F A R SO R SR L X e S

HES WIS HES%E. fiwm.

(1) Origami— Japanese paper folding—is family fun .

TEMH, REXT origami RGN G HEEITS M Japa-
nese paper folding 7] 5§ 1 onigami 8] 1% 4" H ARITEKF T E".
2) LB E TS — B IR I EEARE . XS w AR

# that is, meaning, such as,or %, 0.

(2)Mary felt perturbed; that is, she was greatly disturbed by her sister’s
actron.

(3)John is not at all popular among his friends. The mere reason is that he
is not stingy. In other words, he is rather economical in spending his
money.

(EB 2+, that is BT 5155 1) 8] 1B 4 perturbed FO % R, M ifij 7

VAT IEE A disturbed B9 1) UHIE - 1 3 B8 stingy B4R R4 14), 1t

B U1 fiE B 8 55 72 4515] in other words , Bt A7 25 rather economical Pl

stingy B[R] 3CiA] .

3) H8ER)TAEA R RIS HERE R T R SR AR LR L, T RS

A L. FARR LBA not. but although, however, on the other hand.

on the contrary %, 40

+ 9 .



